K1.23

K3.11 )
C
K1.22 —
K1.21 —
D |
[
/ / .
[
/ 1=
K3.17 L=
/ q /
|
ANTAIOETAZIO AL 3 /
KATAOGAIMNTIKOE A3 %‘/ /
MPOZX $1.29.9.17.4 /
EAA®OX == —
AFQrox
TKAMMA
KAIMAKA: - 1:1000/1:100 H=21.00 H=31.80 H=43.10
ONOMAXIA OPEATION AZ3 @31 @32 033 34 3.5 3.6 3.7 3.8 3.9 ©3.10 @3.11 03.12 @3.13 03.14 @3.15 03.16 03.17 03.18 @3.19 @320 0321 ©3.22 ©3.23 03.24 03.25 03.26 03.27 ©3.28
g & a 2 & & 3 e 3 ol a a & 3 I & 3 & = g = 8 g £ a 3 g = =
YYOMETPA EAAOOYZ S ] 3 g S 2 E = B 3 3 3 5 3 5 5 % 2 3 g g g 3 $ % g g & %
1 a a 3 3 Y 3 2 & 3 N < g = 8 = 3 & 3 a = & § 5 a 8 & S S
YFOMETPA ZKAMMATOZ g 3 3 9 g S & Y g = o B 3 9 4 g 3 5 2 g 3 7 g ¥ g g g g )
BA®OZ EKAMMATOE R a e =, S S 3 s & 5 2 2 2 o S 3 g & & & & 2 2 = 3, S g 2 g
ATIOETAZEIE METAEY | 1500 | 2000 | 2500 | 40,00 | 40,00 | 40,00 | 30,00 | 30,00 | 40,00 | 30,00 | 2500 | 2500 | 2000 | 2500 | 2500 | 2500 | 1700 | 33,00 | 2500 | 2500 | 2300 [8,00] 28,00 | 30,00 | 30,00 | 38,00 | 2500 | 30,00 |
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TIAPOXH  |Q=239Ls] Q=239Lis| Q=239Ls Q=239Lis Q2321 Q224 Lis Q=2.16Lis Q=2.10Ls Q204155 Q=196 Lis Q=1901/s Q=l79Lis | Q=174Ls| Q=L70L/s Q=165 Q=160L/s | Q=1.55Lis Q=1281ss Q=1221is Q=l17Ls | Q=LI2Lis gom Q=0.63Lis Q=030L/s Q02415 Q=0.18L/s Q=0.11L/s Q=0.06L/s
YAPAYAIKA STOLXEIA TAXYTHTA |V-118m/id V-0.68m/s| V=0.84m/s V=101 m/s V=106 m/s V=1.05 m/s V=0.96 m/s V=0.95 m/s V=0.94m/s V=095 m/s V=0.94m/s V=093mis | V=092mis| V=0.79mis V=0.79 m/s V=0.83mis | V=111m/s V=0.95 m/s V=0.86 m/s V=084m/s | V=084m/s Vo7sms V=098 m/s V=0.51m/s V=027 m/s V=025 m/s V=0.62ms V=0.52m/s
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BAGOXPOHE |(h=2.31 h=338 h=291 h=2.57 h=2.44 h=2.40 h=2.49 cm h=2.46 h=2.42 cm h=2.34 h=2.30 cm h=2.24 cm =220 cm h=2.40 h=2.37 cm h=2.23 b=1.79 cm h=1.75 h=1.82 cm h=1.78 h=1.74 145 h=1.06 h=0.99 h=1.33 h=1.16 h=0.45 h=0.33 cm
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MHKOZ KAI KAIEH L0V L2 T1-25000i001800]  L~40.000/=0.03000 1~80.0004=0.03500 L=100.000/=0.02800 1=55.000/i=0.03000 1~25.0004=0.03720] 20000 1=50.000/=0.02000 125.000-003000 | Pl | 1-33.0004=0.04485 |1-25.000/1-0.03520 | L~25.000/0.03480 [ L~23.0004-0.03522 Mooy 1-28.0004-0.09000 | L=30.000/=0.02700 1=68.000/=0.00500 L~25.0004=0.11000] L~30.0004=0.11333
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